Subject: Singular jacobian in broyden
Posted by Jerome Colin on Wed, 23 Feb 2005 19:01:36 GMT

View Forum Message <> Reply to Message

Hello,
| try to use the Broyden function to resolve a set of three equations.
I've declared the three equations in a function, and provided initial
guess. The code is compiled well, but | get the message :

‘Singular jacobian in broydn'

As I'm not familiar with this method, I'd appreciate any help and/or
comments about the source of this error.

Many thanks !

Jerome
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